MIRROR JEWELLERY CABINET




Hardware list

Jewelry cabinet™

@ Hair ;ryer rack

<
Support frame
(1065*370mm)
2pcs ™

Compartment

panels(SOmm) /

Motherbor B
(370*400mm)

— Smallback
compartment
(355*139mm)

(D

~ Back compartment
(355*206mm)

Cardboard
(355*300mm)
@

Drawer board
(375*160mm)




Accessories list

@ y Gasket 1 Pcs
% Acrylic left and right accessories 4 Pcs
@ \ Acrylic spacer ?2 Pcs
@ ‘% Key 1 Pcs
@ @ Hold hands 1 Pcs
® Cross nuts and gaskets (4x18mm) 1 Pcs
(G)| M |Countersunk head tapping screws (8x20mm)| 2 Pcs
@ Eye-screw (8x30mm) 2 Pcs
@ Xmmmmm» |Cross machine wire (6x50mm) 8 Pcs
@ ¥mmm  |Cross nut (6x20mm) 4 Pcs
@ EE>_ —) Screwdriver 1 Pcs
@ g &?ﬁ] (Short Type5*8mm)Cross screw assembiy 4 Pcs
@ @z‘] (Long Type5*20mm)Cross screw assembiy 4 Pcs
@ o Self tapping wire(3x16mm) 1 Pcs

@ f @mmmn | Colloidal granules/Self tapping wire(4x45mm) 1 DCS

P) Anti-rewind (290mm) 1 Pcs




m X 4

(6*20m

@@m

s
oy

Step 1

|

Turn the plank and

/N

L)
TN
N










Battery installation
(Tip: use 3 AAA Batteries)






